O\)o\%? 29

O‘) T beed Aroun AepoHures every <
waoates . We  curnue. (Od/\d@m\y o
imcLQ.\”L,Q,\/\c:LQ_u&\? of P Yeoans, aune
Comnsequenkly  Lre oxe eg(m\\y uu\y
‘o amnue ok OJ/L\/ Powt WA e rued
O o S wmuutes  efore o cle ot

Let GIL cund We deuwote e wcul’n'u\g
bue frow amued o e pladforud o
e e\ paf Yo of e %v%’z locad  aundd
€XP TS Jm:dwl rcs{\zdw'ua\)(. T

e U&Olls) (. o \nducled),
oL~ Uloe.s) (w. o x.v\(,\mc\.o_c\)

b) The wnext (ocel Yoo amues clova
(e vk simw\*qwagu&\y Wit oue crpress
*Y‘ou(u\5 2 ok o€ 3 hwes. Hewee, Yva
poboloilty s /3.

€ e o=k tuo  locel droaus | Saould
conue alowa (b reguares Shek T locod (lask)
o ok depodured Lefore cuc ounuad
SEEVCLTPU IS W vwaronagously caka ey

express Yrow . LWy Yo \/\QW\LMQCJ

Lt probeloility 3, il 1S Y
Gmswer Yo P question.



(Dol 2.9 >

C) Crvermn Yo viexh tcudwn camues cdowg
Here 18 @ SO%  cueumce Huat  tuae
Suv\os,aci_ue,mﬁ e (L_oca,d cum‘ue,& c loue.
boo . We gek tlus Rowe Fhue rule
P AR =IPAR) (R(R) , woMidcM W ol
Cols-e %{wpk&%‘a Lo (‘/%)/CVS) = l/l.

Our ool Rumes can ek rwo  Rotuns
© (Ve looccdd e \ccol Wotuw st 1F vmaunudes

0O We woaik for Ve wvexk  krcuns (S\M{\A.\
£k anues aove, e wenk Sof Y
hexk  Erodluw, towde ol Viok afmue
clowng: S\ wainaltes.
- 1§ b does wok  cmue aloue, e Looueal
e exprss  Touw: L waunkes

Thus, Meeqectec el Rwe_Koc opiouw
Og_ (b@?di\z\%) 1S 13 waanudes, Yol YWa
Second P Now CWCM‘H\A%D e CI(LZQHQ\

Frosel RHwae ise
L (sen)r 5 (5+15v0)) =ues

i Me Loced el CLOrURS
clouwe, e Seodd boaxd ik,

\.V\ Comc\uslow

i



3
o\ 88 2.9 /3

C\B Now A ine T as twe Yofal Yroisel
T Sromn oue ornuel ek ke

P\cdcgewvv\. (e wwueke. T S?rru&&gy Lroun
SUbprobloa o Fiesk, we wiroduwce Ywe

WAl coter UOJ\CJO\-Q Ta, o t’:fgm\s
oM e e wWezk  (peal drenw arnues

olovie. | e,

T o= e Tan1F v (L -Ta) L

)‘—\Q\AC/QJ

L7V = TElwds FLTah+:*» EL1-T410
= S/ Mz 2 s
- S/ - 133

e) We e Ywo P hons -

1 Weuk ok h\A.L__p\cL’c?oru« o loca
Yraons: To= Lo+ 13

2. Weik ex tue pledforvm for  cxpress
Yeciue: Te= We *+ \\,

1

9.5,

ElT )]s ®lwe)r3 =52 17
8. S

ElTels Elecoed W\ = Bz« 1\

Thus, e Qroose Tz express p\q’cféor\M.

1t



	Wolff 2.19 (1)
	Wolff 2.19 (2)
	Wolff 2.19 (3)

